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AP Calculus BC  
Quiz 5 – Section 9.5         Period ______  Score ________ / 10
Circle the letter of the correct answer for each problem.  Each problem is worth 2 points.  
No calculator may be used on this page.
	1.
	
Consider the series .  
Use the Alternating Series Test to determine which of the following statements is true for the given series.

	a)
	
Since , the series diverges.

	b)
	
Since , the Alternating Series Test cannot be applied.

	c)
	
Since  for some n, the series diverges.

	d)
	
Since  for some n, the Alternating Series Test cannot be applied.

	e)
	The series converges.







	2.
	
Consider the series .  
Use the Alternating Series Test to determine which of the following statements is true for the given series.

	a)
	The series converges.

	b)
	
Since , the series diverges.

	c)
	
Since  cannot be shown to be true for all n, the series diverges.

	d)
	
Since  cannot be shown to be true for all n, the Alternating Series Test cannot be applied.

	e)
	
Since  for some n, the series diverges.







	3.
	
The series  is a convergent series.  Determine the number of terms required to approximate the sum of this series with an error less than 0.001.  

	
	




a)      b)      c)      d)      e)  




	



4.
	
A calculator may be used on this page.



Determine whether the series  converges conditionally or absolutely, or diverges.

	a)
	The series converges absolutely but does not converge conditionally.

	b)
	The series converges absolutely.

	c)
	The series diverges.

	d)
	The series converges conditionally but does not converge absolutely.





















	5.
	
Determine whether the series  converges absolutely, converges conditionally, or diverges.

	
	a)  converges absolutely   b)  converges conditionally    c)  diverges     d)  cannot be determined





Answer Key

	1.
	e

	2.
	b

	3.
	d

	4.
	d

	5.
	c
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	1.
	
Consider the series .  
Use the Alternating Series Test to determine which of the following statements is true for the given series.

	a)
	
Since , the series diverges.

	b)
	
Since , the Alternating Series Test cannot be applied.

	c)
	
Since  for some n, the series diverges.

	d)
	
Since  for some n, the Alternating Series Test cannot be applied.

	e)
	The series converges.








	2.
	
Consider the series .  
Use the Alternating Series Test to determine which of the following statements is true for the given series.

	a)
	The series converges.

	b)
	
Since , the series diverges.

	c)
	
Since  cannot be shown to be true for all n, the series diverges.

	d)
	
Since  cannot be shown to be true for all n, the Alternating Series Test cannot be applied.

	e)
	
Since  for some n, the series diverges.







	3.
	
The series  is a convergent series.  Determine the number of terms required to approximate the sum of this series with an error less than 0.001.  

	
	




a)      b)      c)      d)      e)  




	    


4.
	A calculator may be used on this page.




Determine whether the series  converges conditionally or absolutely, or diverges.

	a)
	The series converges absolutely but does not converge conditionally.

	b)
	The series converges absolutely.

	c)
	The series diverges.

	d)
	The series converges conditionally but does not converge absolutely.





















	5.
	
Determine whether the series  converges absolutely, converges conditionally, or diverges.

	
	a)  converges absolutely    b)  converges conditionally    c)  diverges   d)  cannot be determined





Answer Key

	1.
	e

	2.
	b

	3.
	d

	4.
	d

	5.
	c
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